
Vertical Wall mount for original Raspberry Pi 7" display

MUTLICORE s.r.o. | Pohranicni 504/27 | 703 00 Ostrava 3 | Czech Republicinfo@multicore.cz | +420 773 770 800www.multicore.cz

ROBUST CONSTRUCTIONUSB CONNECTION OUTPUTSTANDARDIZED WALL MOUNTFLIP POSIBILITY DISPLAY MOUNTINGCUSTOMIZING POSSIBILITY

INSTRUCTION MANUAL - 20201101ENG

ACCESSORIES (not included)

WeightDimensions

PACKAGING

: 695g: 218x123x95mm

mcHAT with POEand cooling system

Raspberry Pi 2,3,3B,3B+,4 compatible

CABLE INPUTS POSSIBILITIES

SWING OUT CABLE OUTPUT DISP. MOUNTING POSSIBILITIES

MOUNTING AT DOWELS 2 POS. INSTRUMENT BOX
( KP 64/2L )

DIMENSIONS

-1
WeightIPPanel materialFrame materialScrew torque

: 680g: IP20: PE-HD: Steel: 0,5Nm

Cable output from TOP

Cable output from BOTTOM
Cable outputfrom back side

BETTERCONTRASTFROM RIGHT

BETTERCONTRASTFROM LEFT

RECOMMENDED

Included:-  1x Display plate-  1x Console-  2x Screw M3x5 DIN 7991-  5x Screw M3x5 DIN 912-  7x Screw M3x5 DIN 912-  4x Set of dowels & screw-  1x Hex key 2mm-  1x Hex key 2,5mm with ball-  1x mcPROTECTOR (BASIC)

SAVING RECOMMENDEDAFTER SWING OUT

SWING O
UT

SWING O
UT

117,1

100 for USB accessories

81

185,5194,8
15˚

USB 2.0 Connectorextension with safety cover

Low profile mounting set

mcHAT compatible and recommended

4x Includedin packingØ6mm drill tool

WALL

6570

5
411513116050

31,6 (-4mm)

51 (+17m
m)

mcPROT
ECTOR (

BASIC, P
REMIUM

, ANTIBA
CTERIAL

 ...)



4.4x M3x5

1.

2.

original raspberry pi 7" display( not included )

2.

2.2.

3.

1.
M3x5 (2x)
M3x5 (5x)2mm (1x)

2,5mm (1x)

(4x)

(1x)(1x) (1x)

2. 1x M3x5
Rotate 180deg for better contrast from right sideDefault mounting is for better contrast from left sidesee “DISPLAY MOUNTING POSSIBILITIES”

From packing is this step done.

2. 3.

1.

3.

2x M3x5

7x M3x6
M3x5 in position for display cable

5.Install screen protector by mounting kit in these steps :1. Remove original display protection foil2. Locate a dust free area and carefully remove any dust or dirt from the display by using of wet pad      and cleaning wipe (included in mcPROTECTOR packaging)3. Remove half of the thin cover film of the scree protector on one side with your screen. Make sure      that the screen protector will be centered on the middle of screen.4. Carefully slide over the screen protector from one side to the other on your screen by soft cloth, enabling      you to remove the rest of the thin cover film.5. Smooth any remaining air bubbles. You can also use any credit card covered with soft cloth over the edge.

1x mcPROTECTOR

M3x6 (7x)

mcPROTECTORscreen protection
(1x)


	1: 1 - EN
	2: 2 - EN

